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QUESTION 1

DRAG DROP 

Drag and drop the Cisco ACI filter entry options from the left onto the correct categories on the right indicating what are
required or optional parameters. 

Select and Place: 

Correct Answer: 
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Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/Operating_ACI/guide/b_Cisco_O
perating_ACI/b_Cisco_Operating_ACI_chapter_01000.html 

 

QUESTION 2

Refer to the exhibit. 
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A network engineer deploys Cisco APIC for the first time. Which connectivity type must be used to connect a Cisco ACI
APIC node to connect to an out-of-band segment? 

A. 4. 1-Gb Ethernet dedicated management port 

B. 5. Serial port (RJ-45 connector) 

C. 9. VIC 1455 with external 10/25-Gigabit Ethernet ports 

D. 2. Dual 1-Gb/10-Gb Ethernet ports (LAN1 and LAN2) 

Correct Answer: D 
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Out-of-band 1-Gb/10-Gb Ethernet management ports for management of APIC OS only 

 

QUESTION 3

Refer to the exhibit. 
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The 0.0.0.0/0 is configured as a default static route on L3Out-1. Which action should be taken for the 0.0.0.0/0 prefix to
advertise out on L3Out-2 OSPF? 

A. Enable Export Route Control Subnet. 
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B. Enable Shared Security Import Subnet. 

C. Enable Shared Route Control Subnet. 

D. Enable Aggregate Export Subnet. 

Correct Answer: A 

Aggregate Export This option can be used only for 0.0.0.0/0 with “Export Route Control Subnet”. When both “Export
Route Control Subnet” and “Aggregate Export” are enabled for 0.0.0.0/0, ACI creates an IP prefix-list with “0.0.0.0/0 le
32”, which matches any subnets. Thus, this option can be used when an L3Out needs to advertise (export) any routes
to the outside. 

 

QUESTION 4

Refer to the exhibit. 

The Cisco ACI fabric has an egress L3Out from Leaf-101 and Leaf-102 to CORE-1. VLAN 102 is used to form the
OSPF adjacency. The workloads must be migrated into EPG-101, and the static port binding is configured to Leaf-103
e1/1 with encap VLAN 101. An engineer completes the port binding and receives an MCP fault. Which action clears the
fault? 

A. Use VLAN 101 for OSPF adjacency on the egress L3Out. 

B. Use VLAN 102 as the encap VLAN on the EPG-101 static port binding. 

C. Add VLAN 102 to the VLAN pool that is used by the static port binding. 

D. Prune VLAN 101 from the VLAN pool that is used by the egress L3Out. 

Correct Answer: D 
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QUESTION 5

Which components must be configured for the BGP Route Reflector policy to take effect? 

A. spine fabric interface overrides and profiles 

B. access policies and profiles 

C. pod policy groups and profiles 

D. leaf fabric interface overrides and profiles 

Correct Answer: C 

https://www.cisco.com/c/dam/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/aci-
guide-configuring-fabric-bgp-route-reflectors.pdf 
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